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1. ( ) IR —{E R T R A 7

(A) 57°—56'=57+56 (B) (57+139)'=57"+39’

(C) 28.5—21.5=(254+3.5(25—3.5) (D) 503°4503%6+3’=(503—3)’
2. ( ) 45 295" =a+5" » Hilafy{EEL N HIWHE = THH[E ?

(A) (300-5) (B) (290+5)>
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(C) (300-5)(300+5) (D) (295-5)(295+5)
( ) TR BRI R A IEHERY 7
(A) ZIHA 3 +2x B—H_-RKZIHN (B)8 7 x HIZKZIHIN
C) —flH —RHYZIE, - P H=IH (D) —x*HYAREIE O
4. ( ) WIRZIEF ad +bx* +ox+d  BLIZIFT-3x* —2x M > A AT e ?
(A) a=-3 (B) a+b+c=-5 (C) b=-2 (D) a+b+c+d=5
5. ( ) BTE (3x—4)-(2x+3) HY4E . » BL NHIHEF4H[E] 2
(A) 5x+1 (B) 6x-12 (C) 6x*+x-12 (D) 6x*+5x-12
6. ( ) ZIEF (- +2x° +mx-5) FREAZIAF (x-1) FTiSVER=t 0> Al m HYE ?
A 4 (B 5 (€ 6 (D) 7
7. ) H AR x BISREIEN > By x BY—RKZIHAZ > AN YRR 2 i IEHE 2
(A) A+B B x HI=KEHIER, (B) A—B Ry x H—ZIHK
(C) AxBE x M=RZIER (D) A+B & x WY _REZIHEN
8. ( ) NEURGIAATE A A 2
(A) BEAAIEE R » IR (VE) =2 (B) B MYEFAREER

(C) bEHesy - Fblb? =b (D) (EEIEBIR T ITHLL E R 8
9. () THIMEE R (6x* —10x+7)+(-2x+3) A 2B R =0 A 2

(A) -3x+5 (B) -3x+6 (C) 3x+5 (D) 3x+6
10.( ) VIORYEAR THIRIEC [ 2

(A)4.35> 436 (B)4.36>4.37 (C)4.37>4.38 (D)4.38:4.39
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(A) 15 (B) 5 © 5 (D) 15
12.( ) THIE—{EEETE 2 IERERY ?
(A) 169 HYF IR EH13 (B) V121=+11

(C)—4 & 16 #y—{EF IR (D) +o.o1 =%
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1. A TET (49x)) + D = (9%)

2. 5THHE(Bx* -3x+2) — (-2x-3)(-2x+ I MARFFFEHH]___ @)

3. 3B (4x+5) - (4x-3) TEIRFEHF__ @

4. 3K (6x* —3x=7) (2 HYRH U2 @

5. 3K (5x2 —3) = (4x+1) YR T & ®)

6. & 9 /2 4x+5HYIEF IR - Allx= ©®

7. 5TE 137x49—137 x 172+163 X 49—163 X 172 = D

8. FTHE 503" —2x503x3+3" —496° +4° = ®

9. %(591)x(603)=a+b » Fra By FEEEH 0<b<1 > Hija= ©)

10. #n Ry EREEL > H V2025 <n<3025 > IR IS (ER IR0 n 2575 241
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